Handout 3
DEFERRED TAX
IAS 12 – SALOON CAR - QUESTION

ABC Limited purchases a saloon car on 1 January 20X1 for Shs 10 million.  It will be depreciated on a straight line basis over 5 years.

Wear and tear allowance is claimable, on the restricted amount of Shs 2 million only, at 25% on a reducing balance basis.

Compute the carrying amount, the tax base, the temporary difference, and the deferred tax asset or liability to be recognised in the balance sheet at 31 December 20X1 and 31 December 20X2.  Assume the tax rate is 30%.

ABC Limited sells the same vehicle on 1 January 20X3 for Shs 7,000,000.  Assuming this was the only vehicle they owned, compute the gain on disposal, the current tax charge and the tax expense arising on disposal.
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